§ 8.3 Law of Cosines

The Law of Cosines is C

used to solve triangles in /\
which two sides and the

included angle (the angle & c B

between the two sides) are
known or 1in which three

sides are known
(SAS or SSS)

The Law of Cosines - If A, B and C are the measures
of the angles of a triangle and a, b and c are the
lengths of the sides opposite these angles, then
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Note: It is wise to find the largest angle which is
across the largest side FIRST !




(a) All angles are acute

. \Obtuse angle

(b) Two acute angles and one obtuse angle

CASE 1: One side and two angles are known (ASA or SAA).
CAsE 2: Two sides and the angle opposite one of them are knowni(SSA). \

CASE 3: Two sides and the included angle are known (SAS).
CASE 4: Three sides are known (SSS).
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Example 1 Solve triangle (SSS)
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Example 2 Solve triangle (SAS)
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Example 3 The pitchers mound on a women’s
softball field is 43 feet from home plate and the
distance between the bases is 60 feet. How far is the
pitchers mound from first base?
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Example 2BSolve triangle (SAS) - A=115°c=10and b=15.
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Example 3 The pitchers mound on a womens softball field is 43 feet
from home plate and the distance between the bases is 60 feet. How far
is the pitchers mound from first base?
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